NEW FROM

H2 £0.20

COMPONENTS
EXTENSION

February 2022




NEW ADDITIONS TO DME COMPONENTS RANGE

Our range of centering devices is extended with rectangular interlocks, optionally with DLC coating.

The recently implemented slide units are newly equipped with a variety of round and rectangular core pins
to help you solve your projects with undercuts.

Mould Guiding solutions is expanding to include venting pins, DLC coated flat guides, hardened buffer
discs and ejection accelerators.

DME further enlarges its range of Mould Cooling adding completely new parts like plugs with collar and
copper seals, cylindrical plugs with sealant as well as expanding the ranges of the existing items like 1"
baffles, NPT sizes of tapered screw plugs, metric sizes of cylindrical screw plugs and others to serve more
possible applications for any mould and to allow more freedom in the design phase.

CONTENT:

Guiding 3 K0817 F3078 12 F2075 20

F3174 3 K082 8 F3082 13 BB 21

Eiection units 4 R18 9 F3084 14 BBS 22

F1l524 A F1500 9 F1770 15 KN 105 23
WZ 8093 9 . F2108 24

Mould cooling 17
Interlocks 5 F3074 10

K060 5
K080 6

Ejector pins 11
F3076 11

F2076 17
V3...18
V3..C19




@ CAD reference point

COMPONENTS - EXTENSION  DME =
GUIDING

FLAT GUIDING STOCK F3174
N EW Mat.: 1.2363 ~ 58 HRC

DLC Coated

M(DIN 7984

Lubrication groove

min C x 45°

0.00
S 001

T

REF b S L | M Q| R C |12 | 11 REF b S L | M Q| R C | b1? | L1
F3174125040 12| 5 |40 | M4| 2 |35[08| - | 24 F3174326125 | 32 | 6 |[125| M5 | 3 7 108| - |605
F3174125050 12| 5 |60 | M4| 2 |35/08| - | 34 F3174326160 | 32 | 6 | 160 | M5 | 3 7 |08| - | 68
F3174125063 2| 5 |63 |M4| 2 |35[/08]| - | 47 F3174326200 | 32 | 6 |[200| M5 | 3 7 /08| - | 88
F3174125080 2| 5 |8 |M4| 3 |35[08]| - | 32 F3174406050 | 40 | 6 | 50 | M5 | 4 9 | 12|20 | 26
F3174165050 16| 5 |60 | M4| 2 45|08 - | 34 F3174406063 | 40 | 6 | 63 | M5 | 4 9 [ 1,2] 20| 39
F3174165063 16| 5 |63 |M4| 2 45|08 | - | 47 F3174406080 | 40 | 6 | 80 | M5 | 4 9 |1,2| 20 | 56
F3174165080 16| 5 |8 |M4| 3 |45|08| - | 32 F3174406100 | 40 | 6 | 100 | M5 | 4 9 [ 12| 20| 76
F3174165100 16| 5 |100| M4 | 3 | 45|08 | - | 42 F3174406125 | 40 | 6 |125| M5 | 6 9 | 1,2| 20 |50,5
F3174206040 | 20 | 6 | 40 | M5 | 2 5 108| - | 20 F3174406160 | 40 | 6 | 160 | M5 | 6 9 [ 12| 20 | 68
F3174206050 | 20 | 6 | 50 | M5 | 2 5 08| - | 30 F3174406200 | 40 | 6 |200| M5 | 8 9 |1,2]| 20 | 58
F3174206063 | 20 | 6 | 63 | M5 | 2 5 08| - |43 F3174508063 50 | 8 |63 |M6| 4 | 11 | 12| 24 | 39
F3174206080 | 20 | 6 | 80 | M5 | 2 5 08| - | 60 F3174508080 | 50 | 8 | 80 |M6| 4 | 11 | 1,2 | 24 | 56
F3174206100 | 20 | 6 | 100 | M5 | 3 5 08| - | 40 F3174508100 | 50 | 8 |[100 | M6 | 4 | 11 | 1,2 | 24 | 76
F3174206125 | 20 | 6 |125| M5 | 3 5 08| - | 50 F3174508125 | 50 | 8 [126 | M6 | 6 | 11 | 1,2 | 24 |50,5
F3174256040 | 25 | 6 | 40 | M5 | 2 6 /08| - |20 F3174508160 | 50 | 8 (160 | M6 | 6 | 11 | 1,2 | 24 | 68
F3174256050 | 25 | 6 | 50 | M5 | 2 6 [08| - | 26 F3174508200 | 50 | 8 |200| M6 | 8 | 11 | 1,2 | 24 | 58
F3174256063 | 25 | 6 | 63 | M5 | 2 6 /08| - | 39 F3174638080 | 63 | 8 | 80 |M6| 4 | 11 | 1,2 | 35 | 56
F3174256080 | 25 | 6 | 80 | M5 | 2 6 [08| - | 56 F3174638100 | 63 | 8 |100 | M6 | 4 | 11 | 1,2 | 35 | 76
F3174256100 | 25 | 6 | 100 | M5 | 2 6 108 - | 76 F3174638125 | 63 | 8 |125|M6| 6 | 11 | 1,2 | 35 |50,5
F3174256125 | 25 | 6 |125| M5 | 3 6 |08 | - |b05 F3174638160 | 63 | 8 |160 | M6 | 6 | 11 | 1,2 | 35 | 68
F3174256160 | 25 | 6 | 160 | M5 | 3 6 /08| - | 68 F3174638200 | 63 | 8 [200| M6 | 8 | 11 | 1,2 | 35 | 58
F3174326040 | 32 | 6 | 40 | M5 | 2 7 108 - | 20 F3174808100 | 80 | 8 |[100 | M6 | 4 | 11 | 1,2 | 50 | 76
F3174326050 | 32 | 6 | 50 | M5 | 2 7 /08| - | 26 F3174808125 | 80 | 8 |125|M6| 6 | 11 | 1,2 | 50 |50,5
F3174326063 | 32 | 6 | 63 | M5 | 2 7 108 - | 39 F3174808160 | 80 | 8 |160 | M6 | 6 | 11 | 1,2 | 50 | 68
F3174326080 | 32 | 6 | 80 | M5 | 2 7 /08| - | b6 F3174808200 | 80 | 8 |[200| M6 | 8 | 11 | 1,2 | 50 | 58
F3174326100 | 32 | 6 | 100 | M5 | 2 7 /08| - | 76 F3174808250 | 80 | 8 |250 | M6 | 8 | 11 | 1,2 | 50 | 72

Note:
1. Q: number of holes
2. " -"screw holes on centre line

store.dme.net 3



- DME "™

EJECTION UNITS

COMPONENTS - EXTENSION

EJECTOR ACCELERATOR F1524

NEW

Mat.: 1.2510 ~ 58 HRC
Max. T.: 250°C

H2 £0.20 Smax 2
&
‘3‘0.02%
- [@
]
7 |
1 S
o H1 (— Fmax
DP..
0.00
@ D2 -0.02
REF B1 L D1 DP.. H1 B2 D2 H2 L1 L2 L3 M.. Hmax." | Smax.? |Fmax.[N]
F152413 13,2 | 25,8 25 |25x%x10 5 15 8 9,46 59 20 11,35 |3 x 12 11,6 4,4 1250
F152416 16 32,3 3 3,0x 12 6 18,5 10 11,82 7 25 14,31 |4 x 16 15 5,7 2500
F152422 22 48,5 4 4,0 x 16 8 25 15 1773 | 10,5 375 | 21,47 |6x25| 235 9,1 3500
F152430 30 64,6 5 5,0 x 20 10 34 20 23,64 14 50 28,63 | 8 x 30 32 12,5 8000
Note:
1. H max.: Maximum stroke
2. S max.: Maximum operation path
3. RP: Because of mechanical return, return pins should be installed in the ejector set.
= T [ TR

RP

I

ASSSSS
v

NN
RN

m—
SSSSSS—

72222222270

]

N 7

@ CAD reference point

store.dme.net



@ CAD reference point

COMPONENTS - EXTENSION  DME =
INTERLOCKS

INTERLOCK SET, TRAPEZOIDAL K060

N EW Mat.: 1.2343 / 53 HRC

Aké

REF A B R H L1 L3 L2 L M2 M1
K0602020 20 20 4 5,5 14 4 10 28 M4 M5
K0602525 25 25 5 75 16 8 13 32 M5 M6
K0603232 32 32 6 9,56 18 12 15 36 M6 M8
K0604040 40 40 6 11,5 22,5 14 17 45 M8 M10

store.dme.net 5




T DPDME >
 DME COMPONENTS - EXTENSION
INTERLOCKS
INTERLOCK SET, STRAIGHT K080
NEW Mat.: 1.2343/ 53 HRC
3 '
0.25
L1 L1 L2
REF A B R H L1 A 13 L2 L M2 M1
K0801616 16 16 3 4,5 12 8 3 8 24 M3 M3
K0802020 20 20 4 5,5 14 10 4 10 28 M4 M5
K0802525 25 25 5 75 16 12 8 13 32 M5 M6
K0803232 32 32 6 95 18 16 12 15 36 M6 M8
K0804040 40 40 6 11,5 22,5 20 14 17 45 M8 M10

@ CAD reference point

store.dme.net



EB‘ CAD reference point

T DME >
COMPONENTS - EXTENSION - DME
INTERLOCKS

SPACER FOR INTERLOCKS K081
NEW Mat. 1.2842 /53 + 1 HRC

REF B L S R M
K08116163-00 16 16 3.0 4 M4
K08116163-10 16 16 3l 4 M4
K08116163-20 16 16 3.2 4 M4
K08120203-00 20 20 3.0 b M6
K08120203-10 20 20 3.1 5 M6
K08120203-20 20 20 3,2 B M6
K08125253-00 25 25 3.0 6 M8
K08125253-10 25 25 3,1 6 M8
K08125253-20 25 25 3.2 6 M8
K08132323-00 H2 32 3.0 7 M10
K08132323-10 32 32 3.1 7 M10
K08132323-20 32 32 3.2 7 M10
K08140403-05 40 40 3,05 7 M12
K08140403-10 40 40 Shl 7 M12
K08140403-20 40 40 3.2 7 M12

store.dme.net 7



< DME —™ COMPONENTS - EXTENSION
INTERLOCKS
INTERLOCKS SET, STRAIGHT, DLC COATED K082

N EW ‘ Mat.: 1.2343 with DLC coating ‘

Ak

REF A B R H L1 A1 L3 L2 L M2 M1
K0821616 16 16 3 4,5 12 8 3 8 24 M3 M3
K0822020 20 20 4 3,9 14 10 4 10 28 M4 M5
K0822525 25 25 5 75 16 12 8 13 32 M5 M6
K0823232 32 32 6 9,6 18 16 12 15 36 M6 M8
K0824040 40 40 6 11,5 22,5 20 14 17 45 M8 M10

@ CAD reference point

8 store.dme.net



@ CAD reference point

COMPONENTS - EXTENSION

DISCS

DME —™

- e
INTERLOCKS

SM
08

+0.01

r
O £

R18

‘ Mat.: 1.7131

»
0.8 oD
&
REF D S SM
R1818 18 3 M4
R1828 28 3 M4

BUFFER DISC

F1500

NEW

SM
08

r
O £

0.8

‘ Mat.: 1.7131 + 46 HRC

@D
&
REF D S SM
F150020 20 4 M5
F150030 30 4 M5

SPRING PLUNGERS WZ8093

‘ Mat.: Stainless steel

B
- 1] mn
fr ) =] 3
La
|'1
REF d1 d2 d3 L1 L2 S F1 Fmax
WZ80934 3 4,6 5 0,9 1,0 2,5 6
WZz80935 5 4 5,6 6 0,9 15 3,0 6,5
WZ80936 6 5 6,5 7 1,0 2,4 5,5 11,5
WZ80938 8 6,5 8,5 9 1,1 2,7 70 12,5
Wz809310 10 8,5 9,0 13 1,5 &3 8,5 18,5
Wz809312 12 11,0 13,0 16 2,3 4,0 12,0 26,5

store.dme.net



T DPDME >

- DME

EJECTOR PINS

CORE PIN FOR F3070, F3072

NEW

d1

COMPONENTS - EXTENSION

F3074

Mat.: 1.3343 ~ 62 HRC

—
L2 +2
Lo
REF d1 L min. T max. T d3 K B1 B d2 L2
F307405076 5 76 12,7 19,05 9,4 4,75 4,76 79 6,3 79
F307410076 10 76 12,7 174 9,4 4,75 4,76 79 6,3 8,7
1) W: For use with F3070 min. 2°
2) GL: Guiding length min. 1.5 x core diameter
F3070
F3072
; <7 (1)
GL?

@ CAD reference point

10

store.dme.net



@ CAD reference point

DME —™

COMPONENTS - EXTENSION -
EJECTOR PINS

ROUND CORE FOR F3072 F3076

N EW ‘ Mat.: 1.3343 ~ 62 HRC

REF d1 L Min. T Max. T d3 K B1 B d2 L2
F307613076 13 76 12,7 174 9,4 4,75 4,75 79 6,3 8,7

1) GL: Guiding length min. 1.5 x core diameter

F3072

(1)
GL

11

store.dme.net




T DME >

- DME

EJECTOR PINS
RECTANGULAR CORE FOR F3072

COMPONENTS - EXTENSION

F3078

NEW

Mat.: 1.2343 = 52 HRC

0.00
B1-0.05 N _
w
o | | *
— - . ‘ w3t
12 Lo |
REF w S L min. T max. T d3 K B1 B d2 12
F30781916076 19 16 76 12,7 174 9,4 4,75 4,75 79 6,3 8,7
1) GL: Guiding length min. 1.5 x b1
F3072
|~ &
0 o
(1)
GL

@ CAD reference point

12

store.dme.net



@ CAD reference point

COMPONENTS - EXTENSION - DME -

EJECTOR PINS

CORE PIN FOR F3080 F3082

N EW ‘ 1.3343 » 60 HRC

Chrome plated

0,025
. S-0.035,

3 -

+0.01
L2 -0.03

REF di L M w L2 S
F308219152 19 162 M 6 12,7 2,5 12,7

1) GL: Guiding length min. 1.5 x core diameter

F3080

13

store.dme.net



- DME "™

EJECTOR PINS

RECTANGULAR CORE FOR F3080

COMPONENTS - EXTENSION

F3084

NEW

1.2311 ~ 1080 N/mm2
1.2343 ESU =~ 53 HRC

1207 ‘ Lios
W100%

REF w s L steel M6 w1 L2 s1
F308438221252311 38 22 12,5 1.2311 M6 12,7 2,5 12,7
F308438225002311 38 22 50 1.2311 M6 12,7 2,5 12,7
F308438221252343 38 22 12,5 1.2343 ESU M6 12,7 25 12,7
F308438225002343 38 22 50 1.2343 ESU M6 12,7 2,5 12,7

F3080

@ CAD reference point

14

store.dme.net



:{D CAD reference point

COMPONENTS - EXTENSION

DME —™

- UME —
VENTING EJECTOR PIN F1770
NEW Mt 12210 |
Ventilation
0.000 DETAIL B
B -0.015 SCALE 5 : 1
-

REF d1 L R n1 K L1 L2 d2 B
F177001-0100 1 100 0,2 4 1,2 30 70 2,5 0,97
F177001-0200 1 200 0.2 4 1,2 75 125 25 0,97
F177001-5100 1,5 100 0.2 4 15 30 70 3 1,47
F177001-5200 15 200 0.2 4 15 75 125 3 1,47
F177002-0100 2 100 0.2 4 2 30 70 4 1,96
F177002-0160 2 160 0.2 4 2 60 100 4 1,96
F177002-0200 2 200 0.2 4 2 75 125 4 1,96
F177002-0250 2 250 0.2 4 2 75 175 4 1,96
F177002-5100 25 100 03 4 2 30 70 5 2,46
F177002-5200 2,5 200 03 4 2 75 125 5 2,46
F177003-0100 3 100 03 6 3 30 70 6 2,96
F177003-0160 3 160 03 6 3 60 100 6 2,96
F177003-0200 3 200 03 6 3 75 125 6 2,96
F177003-0250 3 250 03 6 3 75 175 6 2,96
F177003-0315 3 315 03 6 3 80 235 6 2,96
F177003-5100 3,5 100 03 6 3 30 70 7 3,46
F177003-5200 3,5 200 03 6 3 75 125 7 3,46
F177004-0100 4 100 03 6 3 30 70 8 3,96
F177004-0160 4 160 03 6 3 60 100 8 3,96
F177004-0200 4 200 0.3 6 3 75 125 8 3,96
F177004-0250 4 250 03 6 3 75 175 8 3,96
F177004-0315 4 315 03 6 3 80 235 8 3,96
F177004-5100 45 100 03 6 3 30 70 8 4,46
F177004-5200 45 200 03 6 3 75 125 8 4,46
F177005-0100 5 100 03 8 3 30 70 10 4,96
F177005-0160 5 160 03 8 3 60 100 10 4,96
F177005-0200 5 200 03 8 3 75 125 10 4,96
F177005-0250 5 250 03 8 3 75 175 10 4,96
F177005-0315 5 315 03 8 3 80 235 10 4,96
F177005-5100 55 100 03 8 3 30 70 10 5,46
F177005-5200 55 200 03 8 3 75 125 10 5,46
F177006-0100 6 100 05 8 5 30 70 12 5,96
F177006-0160 6 160 05 8 5 60 100 12 5,96
F177006-0200 6 200 05 8 5 75 125 12 5,96

store.dme.net

15



 DME = COMPONENTS - EXTENSION

VENTING EJECTOR PIN F1770

REF d1 L R n1) K L1 L2 d2 B
F177006-0250 6 250 0,5 8 5 75 175 12 5,96
F177006-0315 6 315 0,5 8 5 80 235 12 B186
F177006-5100 6,5 100 0,5 8 5 30 70 12 6,46
F177006-5200 6,5 200 0,5 8 ® 75 125 12 6,46
F177007-0100 7 100 0,5 8 5 30 70 12 6,96
F177007-0200 7 200 0,5 8 9 75 125 12 6,96
F177008-0100 8 100 0,5 8 5 30 70 14 7,96
F177008-0160 8 160 0,5 8 5 60 100 14 7,96
F177008-0200 8 200 0,5 8 5 75 125 14 7,96
F177008-0250 8 250 0,5 8 5 75 175 14 7,96
F177008-0315 8 315 0,5 8 5 80 235 14 796
F177008-0400 8 400 0,5 8 5 150 250 14 7,96
F177010-0100 10 100 0,5 8 5 30 70 16 9,96
F177010-0160 10 160 0,5 8 B 60 100 16 9,96
F177010-0200 10 200 0,5 8 5 75 125 16 9,96
F177010-0250 10 250 0,5 8 5 75 175 16 9,96
F177010-0315 10 315 0,5 8 5 80 235 16 9,96
F177010-0400 10 400 0,5 8 5 150 250 16 9,96
F177012-0100 12 100 0,8 8 7 30 70 18 11,96
F177012-0160 12 160 0,8 8 7 60 100 18 11,96
F177012-0200 12 200 0,8 8 7 75 125 18 11,96
F177012-0250 12 250 0,8 8 7 75 175 18 11,96
F177012-0315 12 315 0.8 8 7 80 235 18 11,96
F177012-0400 12 400 0.8 8 7 150 250 18 11,96

1) n: Number of surfaces

{B CAD reference point

16 store.dme.net



{D CAD reference point

COMPONENTS - EXTENSION  DME =
MOULD COOLING

RETAINER FOR INCLINED PIN F2076
N EW Mat.: 2.0401 (CuZn) DIN 908
cu Max. P: = 16 bar
seal S Max T: = 250°C
< ['4
M it
SwW L
REF Rp R S L L1 L3 D3 D1 L1 min. D4 T [Nm]"
F2076M09 M9 x 1 4 1,0 1 8 3 13 9 8 14 5Nm
F2076M10 M10 x 1 5 1,2 1 8 3 14 10 8 15 6 Nm
F2076M11 M11 x 1 5 1,0 1 8 3 15 " 8 16 9 Nm
F2076M12 |M12x 1,5 6 1,5 15 12 3 17 12 12 18 12 Nm
F2076M14 |M14x 1,56 6 1,2 15 12 3 19 14 12 20 22 Nm
F2076G18 G1/8" 5 1,0 1 8 3 14 9.73 8 15 6 Nm
F2076G14 G1/4" 6 1,5 15 12 3 18 13.16 12 20 22 Nm
F2076G38 G3/8" 8 1,5 15 12 3 22 16.66 12 23 30 Nm
F2076G12 G1/2" 10 1,5 18 14 4 26 20.96 2 14 28 42 Nm
F2076G34 G3/4" 12 2,0 20 15 3 32 26.44 2 16 33 50 Nm
Note:
1. T:max. tightening torque [Nm]
2. 2G1/2 countersink D1+ 0.8 mm
Type 1 Installation Type 2 Installation
90°
90°

D4

- /oA
2 [
17

ui
u

L1 min
Y“

L1 min

>

A
__xx

——

store.dme.net 17




DME —™

- ,
MOULD COOLING

KNURLED CONICAL PRESSURE PLUGS

t o
—
QQ/LL, Y

Knurled thread

y 1:16

s T

COMPONENTS - EXTENSION

V3...

Mat.: Brass
Norm DIN 906

=
L S
REF R L sw
V368M050-50 M5 x 0,5 5 3
V369M060-75 M6 x 0,75 7 3
V370M071-00 M7 x 1 8 4
V360M080-75 M8 x 0,75 8 4
V371M091-00 M9 x 1 8 5
V361M101 M10 X 1 8 5
V372M111-00 M11 x 1 8 5
V365M121-5 M12x 1,5 8 6
V366M141-5 M14 x 1,5 10 7
V362R1/8 1/8" BSPT 8 5
V363R1/4 1/4" BSPT 10 7
V364R3/8 3/8" BSPT 10 8
V367R1/2 1/2" BSPT 10 10
V373N1/8 NPT 1/8” 8 4
V374N1/4 NPT 1/4” 10 7
V375N3/8 NPT 3/8” 10 8
V376N1/2 NPT 172" 12 12

@ CAD reference point

18

store.dme.net



T DPDME >

COMPONENTS - EXTENSION - DME
MOULD COOLING
SCREW PLUG WITH CYLINDRICAL KNURLED THREAD V3...C
Mat.: 2.0401 (CuZn)
Max. P.: 16 bar
Without sealant
|
REF RP L SW
V368CMO050-50 M5 x 0,5 5 3
V369CMO060-75 M6 x 0,75 7 3
V370CM071-00 M7 x 1 8 4
V360CM080-75 M8 x 0,75 8 4
V371CM091-00 M9 x 1 8 5
V361CM101-00 M10 x 1 8 5
V372CM111-00 M11 x 1 8 5
V365CM121-50 M12 x 1,5 8 6
V366CM141-50 M14 x 1,5 10 7
V362CR1/8 G 1/8" 8 5
V363CR1/4 G 1/4” 10 7
V364CR3/8 G 3/8" 10 8
V367CR1/2 G 1/2" 10 10
g
I+
g
L
a
S
2
store.dme.net 19



< DME =™ COMPONENTS - EXTENSION

MOULD COOLING
CYLINDRICAL SCREW PLUG WITH KNURLED THREAD & SEALANT F2075
NEW Mat.: 2.0401 (CuZn)
Max. P: = 16 bar
SW Max. T: =160°C

L

o
-- --
|
|
| Sealant
REF Rp L SW
F2075M050-50 M5 x 0,5 5 3
F2075M060-75 M6 x 0,75 7 3
F2075M071-00 M7 x 1 8 4
F2075M080-75 M8 x 0,75 8 4
F2075M091-00 M9 x 1 8 5
F2075M101-00 M10 x 1 8 5
F2075M111-00 M11 x 1 8 5
F2075M121-50 M12x 1,5 8 6
F2075M141-50 M14 x 1,5 10 7
F2075G1/8 G 1/8" 8 5
F2075G1/4 G 1/4" 10 7
F2075G3/8 G 3/8" 10 8
F2075G1/2 G1/2" 10 10

@ CAD reference point

20 store.dme.net



@ CAD reference point

COMPONENTS - EXTENSION  DME =
MOULD COOLING

BRASS PLUG BAFFLES BB
‘ Mat.: Brass ‘
L
L1 T
Teflon for metric threads aﬁﬁz

L2 1:16

REF L R B L1 T d sw
BB10018 104 1/8" BSPT 8.2 8 1.6 8.6 5
BB20018 204 1/8" BSPT 8.2 8 1.6 8,5 5
BB12514 131 1/4" BSPT 1,2 10 2,4 11,5 7
BB25014 258 1/4" BSPT 11,2 10 2,4 11,5 7
BB15038 156 3/8" BSPT 14,7 10 2,4 15,0 8
BB30038 309 3/8" BSPT 14,7 10 2,4 15,0 8
BB20012 207 1/2" BSPT 18,2 10 2,4 18,5 10
BB40012 410 1/2" BSPT 18,2 10 2,4 18,6 10
BB30034 309 3/4" BSPT 23,2 12 3.2 23,5 12
BB50034 512 3/4" BSPT 23,2 12 3.2 23,5 12
BB40010 410 1" BSPT 28,2 15 3.2 28,5 17
BB60010 614 1" BSPT 28,2 15 3.2 28,6 17

Qd H1

| 7
N NN NG

store.dme.net 21




< DME —™ COMPONENTS - EXTENSION
MOULD COOLING
SPIRAL BRASS PLUGS BAFFLES BBS

‘ Mat.: Brass ‘

L+3
L1402 T

2 \Teflon for metric threads

+2
L3 +1

REF M G SW B L L1 T d1 Rotation
BBS100M08 M8 x 0,75 50 4 5,8 102 8 1,6 6 360°
BBS200M08 M8 x 0,75 100 4 5,8 202 8 1,6 6 540°
BBS300M08 M8 x 0,75 150 4 5,8 302 8 1,6 6 720°
BBS100M10 M10 x 1 50 5 78 102 8 1,6 8 360°
BBS200M10 M10 x 1 100 5 78 202 8 1,6 8 540°
BBS300M10 M10 x 1 150 B 78 302 8 1,6 8 720°
BBS125M12 M12 x 1,5 50 6 9,8 127 8 2,0 10 360°
BBS250M12 M12 x 1,5 100 6 9,8 252 8 2,0 10 540°
BBS150M14 M14 x 1,5 45 6 11,8 152 10 2,0 12 360°
BBS300M14 M14 x 1,5 100 6 11,8 252 10 2,0 12 540°
BBS150M16 M16 x 1,5 50 8 13,8 152 10 2,4 14 360°
BBS300M16 M16 x 1,5 100 8 13,8 302 10 2,4 14 540°
BBS150M18 M18 x 1,5 45 8 15,8 152 10 2,0 16 360°
BBS300M18 M18 x 1,5 100 8 15,8 252 10 2,0 16 540°
BBS150M20 M20 x 1,5 50 10 178 152 10 2,4 18 360°
BBS300M20 M20 x 1,5 100 10 17,8 302 10 2,4 18 b40°
BBS150M24 M24 x 2 50 12 19,8 152 12 2,5 20 180°
BBS300M24 M24 x 2 100 12 19,8 302 12 2,5 20 540°

Od1HIZ S
3
s,

@ CAD reference point

22 store.dme.net



{D CAD reference point

COMPONENTS - EXTENSION

T DPDME >

- DME

THREADLESS PRESSURE PLUGS KN 105

Q@d

‘ Mat.: Brass, 0-ring: Viton

REF L d BORE HOLE d H13 Pmax T(°C)
KN10505 10 5 5 10 200
KN10506 10 6 6 10 200
KN10507 10 7 7 10 200
KN10508 11 8 8 10 200

KN10508-5 10 8,5 8,5 10 180
KN10510 1l 10 10 10 200
KN10511-5 1l 11,5 11,5 10 180
KN10512 i 12 12 10 200
KN10514 13 14 14 10 200
KN10516 13 16 16 10 200
KN10520 13 20 20 10 200

store.dme.net

23



- DME "™

NEW

COMPONENTS - EXTENSION

MOULD COOLING

DEFLECTION BAFFLE WITH O-RING SEALS F2108

Mat.: 2.0401 (CuZn) / FKM (Viton)
Max. T.: = 100°C water / 180°C oil

R053

+1
L1-05

REF B L2 D1 S L1 D M 0-rings
F210810180 10 180 10 2 13 12 M6 8x2
F210815250 15 250 15! 2,4 16 16 M8 12x2
F210818300 18 300 18 2,4 20 20 M10 x 1,25 16 x2
F210820300 20 300 20 2,4 20 22 M12 17x2,5
F210825390 25 390 25 2,4 22 26 M16 21,3x2,4

\\V =
! { :
R N A N
N
D H7 -
/ \\v 5
! { Y
A N N T
m \
ﬂ%ﬂ
//

@ CAD reference point

24

store.dme.net



store.dme.net

25



w store.dme.net

Available Online
24/1

DME =
- LA
DME Europe C.V.B.A.
Industrieweg 2, Niel

BE 2845, Belgium
dme_europe@dme.net | +32 15 28 87 30

www.dmeeu.com

& AUXILIARIES .

MOULD
EJECTION

K081...

MOULD
COMPONENTS

d2

A
PRE-ENGINEERED Sﬁgﬁ

COMPONENTS S ’
L A

MOULD
COOLING
TOOLS



mailto:dme_europe%40dme.net?subject=
http://www.dmeeu.com

	Guiding
	F3174

	Ejection units
	F1524

	Interlocks
	K060
	K080
	K081
	K082
	R18
	F1500
	WZ 8093
	F3074

	Ejector pins
	F3076
	F3078
	F3082
	F3084
	F1770

	Mould cooling
	F2076
	V3...
	V3...C
	F2075
	BB
	BBS
	KN 105
	F2108


